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1 100kN/mM#%#BZ % - =1 ~ = -|3m%# 25000 ~ 037] 3.50 15.38| 100kN/m%#B 2% - ol ~ = -|3m%#E 25| 10.00 ~ 12.45| 3.50 15.38
Zzh st 1.00{0.00 ~ 256 39.06] #=h st 037 ~ 256| 3.00 13.20 ZnLst 1.00f 500 ~ 1245 39.06] #nlist | 500 ~ 10.00f 3.00 13.20
9 100kN/mM#%#BZ % - =1 ~ = -|3m%# 25| 0.00 ~ 0.19] 3.22 14.17| 100kN/m%#B x5 - ol ~ = -|3m%# 25| 10.00 ~ 10.75| 3.22 14.17
Zzh st 1.00{0.00 ~ 3.19 4749 Fh st 019 ~  3.19] 3.00 13.20 ZnLst 1.00f 500 ~ 10.75 4749 Fh s | 500 ~ 10.00f 3.00 13.20
3 100kN/M%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 430 63.09| ZhLis |0.00 ~ 430| 2.07 9.10 ZznLst 1.00f 500 ~ 7.21 63.09| Zhist | 500 ~ 7.21| 2.07 9.10
4 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 5.13 75.39| #hList 1000 ~ 513] 1.59 6.98 ZnLst 1.00f 500 ~ 9.90 7539 #hlist | 500 ~ 990 1.59 6.98
5 100kN/M%Z#B % % -l -~ = -|3mZBRB| - ~ = - -| 100kN/mM%#8 %% = -~ = -|3m%i#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 5.09 74.77| #hList 1000 ~ 509| 1.66 7.30 ZznLst 1.00f 500 ~ 859 7477 #hist | 500 ~ 859 1.66 7.30
6 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 5.67 83.77] #nli4t 000 ~ 567 1.90 8.34 ZznLst 1.00f 500 ~ 952 83.77| #n s | 500 ~ 952 1.90 8.34
7 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 6.19 9192 ZhList 1000 ~ 6.19] 2.60 11.44 ZznLst 1.00f 500 ~ 13.05 91.92| Zhist | 500 ~ 13.05] 2.60 11.44
8 100kN/mM#%#BZ % 1.00({0.00 ~ 1.28 121.95|3m%B 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 12.62 ~ 19.30 121.95|3m%EZ 5 =l ~ - - -
Zzh st 1.00({1.28 ~ 797 100.00] Zhkist [ 000 ~ 797 244 10.73 ZnLst 1.00f 500 ~ 12.62 100.00] #hkist | 5.00 ~ 19.30| 244 10.73
9 100kN/mM#E#BZ % 1.00(0.00 ~ 1.61 127.90|3m%E#B 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 12.63 ~ 22.08 127.90|3m%EEZ 5 =l ~ - - -
zh st 1.00{1.61 ~ 8.30 100.00| #hdst |0.00 ~ 8.30] 2.78 12.23 ZnLst 1.00f 500 ~ 12.63 100.00] #hkist | 5.00 ~ 22.08| 2.78 12.23
10 100kN/mM#%#BZ % 1.00({0.00 ~ 159 127.43|3m%# 25| 0.00 ~ 0.11] 3.07 13.52| 100kN/m%#B x5 1.00| 13.63 ~ 22.85 127.43|3m%#8 25| 20.00 ~ 22.85| 3.07 13.52
Zzh st 1.00{1.59 ~ 827 100.00] #h kit [0.11 ~ 8.27| 3.00 13.20 ZnLst 1.00f 500 ~ 13.63 100.00] #hkist | 5.00 ~ 20.00] 3.00 13.20
11 100kN/mM#%#BZ % 1.00({0.00 ~ 241 142.58|3m%#E 25| 0.00 ~ 043 324 14.24| 100kN/m%#B 2% 1.00 12.63 ~ 35.30 142.58|3m%#8 25| 25.00 ~ 35.30| 3.24 14.24
zh st 1.00{2.41 ~ 9.09 100.00] #hiist [ 043 ~ 9.09( 3.00 13.20 ZnLst 1.00f 500 ~ 12.63 100.00] #hkist | 5.00 ~ 25.00[ 3.00 13.20
12 100kN/mM#%#BZ % 1.00{0.00 ~ 1.30 122.21|3m%E 25 = ~ - = —| 100kN/mM%#B 2% 1.00| 15.50 ~ 35.25 122.21|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{1.30 ~ 7098 100.00| Zhlist |0.00 ~ 798| 2.92 12.85 ZznLst 1.00f 5.00 ~ 15,50 100.00] #hiist | 5.00 ~ 3525| 2.92 12.85
13 100kN/m#E#BZ % 1.00{0.00 ~ 1.42 124.41(3mZEBZ 5 -~ = = —| 100kN/mM%#B 2% 1.00f 15.07 ~ 36.10 124.41|3m%H#BZ % = ~ - - -
Zn Lot 1.00{1.42 ~ 8.10 100.00] Zhkist | 0.00 ~ 8.10) 294 12.94 ZznLst 1.00f 5.00 ~ 15.07 100.00f ZHist | 500 ~ 36.10f 2.94 12.94
14 100kN/m%#8 x5 1.00({0.00 ~ 048 107.99|3m%E#EZ 5 ol ~ - - —| 100kN/mM%# 25 1.00| 21.72 ~ 36.78 107.99|3m%E}EZ 5 . ~ - - -
Zn Lot 1.00{0.48 ~ 7.16 100.00| Zh A4 |0.00 ~ 7.16] 2.79 12.27 ZznLst 1.00f 500 ~ 21.72 100.00f Zhist | 500 ~ 36.78| 2.79 12.27
15 100kN/m#E#BZ % 1.00{0.00 ~ 0.71 112.00(3m%#BZ % -~ = = —| 100kN/mM%#8 2% 1.00( 17.87 ~ 2893 112.00(3m%#BZ % = ~ - - -
ZThESH 1.00/ 071 ~ 740 100.00] £h st 000 ~ 740 275 12.10 ZhLs 1.00] 500 ~ 17.87 100.00] #h st | 500 ~ 2893 275 12.10
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16 100kN/mM#%#BZ % 1.00(0.00 ~ 1.82 131.69|3m%EE 25 = ~ - = —| 100kN/mM%#B 2% 1.00 12.69 ~ 24.86 131.69|3m%EEZ D =l ~ - - -
Zzh st 1.00{1.82 ~ 851 100.00| Z#h A4t |0.00 ~ 851 2.75 12.10 ZnLst 1.00f 500 ~ 12.69 100.00] #hkist | 5.00 ~ 24.86] 2.75 12.10
100kN/M%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ Zzh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zzh st ~ zh st ~
100kN/mM%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zh LS ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zh s ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~
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